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National Means Cum Merit Scholarship Examination 2018
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(For students studying in Class 8™)
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State Council of Educational Research and Training Haryana, Gurugram

Y e SfeET vd g uReg gRamm, oM

Time Allowed : 3 Hours Y ¢ 3 T

Maximum Marks : 180 W . 180
Instructions to the Candidates

Read the following instruction carefully | gsi & SR o 9§ UYgdl f=feRga Aol &

before your answer the questions.
Answers are to be marked on a
SEPARATE O.M.R. SHEET

1. Please write your Roll No. very
clearly (only one digit in one block)
as given on your admission card and
even zeros appearing in Roll No.
should be correctly written in the
appripriate blocks on O.M.R. Sheet

Example :

Year Roll No.
18| [1]6]3]1]0[1]2]|4

& ¥ TR | SR TP el MR, e W

Jfdd e 2|

1. U N TR O e yav-u A
feam T B, W (1@ A § ad
% %) fofay | 78t 7 & et TR F
AU el I D A A MR, P W
e e ¥ forg WY |

Year CRERIED
18| [1]6]3]1]{0[1]2]4
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This test has two parts. Part - | as
well as part - Il consist of 90
guestions in each.

Each question carries one mark.

Since the time allotted to the two
parts of this question-paper is very
limited, you should make the best
use of it by not spending too much
time on any question.

Extra page has been provided of
rough work at the end of question
paper.

Do not mark more than one answer
of any question on OMR sheet,
otherwise answer will be cancelled.

Avoid cutting/over writing/use of fluid
etc. on OMR Sheet.

Attempt each question, there is no
negative marking in this test.

I8 Tem 3 9 ¥ 2| IRP 9 ¥ 90
T B |

TG T 6 Th 3 2|

9% 36 T-13 & Q1 A @ iRa
WY Wi §, Sy gHel st
QW By 3R el 7 W a_a
Y 9 oSy |

T JRAdT @ od W P @ oy
gfoRad g far T 2|

MNIAR, M R okt ff 79 @ 1o ¥
P TR A 7 BN IR TN R 2l

ST |

ol T, oI, ¥iie W FHET /e WEHT / efe
T BT WA 51 B |

TP Yo 81 DIVTY, 5 TV § DIy THRTHD
3id e 2|

Note :Do not write anything except the

Roll Number and rough work any-
where in the booklet.

e 39 QRAHT H ST I fora QiR W

a7 3% & e AR g T R
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PART - | JHI- 1%
MENTAL ABILITY TEST

g Jraar wieo

Questions : 1to 90

Directions (Q. 1to 10) :- In these
Questions a series is given with
one term missing. Choose the
Correct alternative from the given

ones that will complete the series.

1 36,49, ?, 81, 100
(1) 62 2) 64
(3) 66 4) 68

2 27,64,7 216, 343, 512
(1) 100 2) 112
(3) 125 4) 152

3 56,60, 64,68, ?
(1) 70 2 71
(3) 72 4) 74

4 47,41,35,29, 7
(1) 23 2) 25
(3) 26 @) 27

79 @ 1 9 10) 37 v & 0O Siwen ) S #
forent v 03 @@ 21 Ry Y fiwe ¥ 9
fiwed gy o siwen B [ Rt B

36, 49, ?, 81, 100
(1) 62 (2) 64
(3) 66 (4) 68

27,64, ? 216, 343, 512

(1) 100 (2) 112
(3) 125 (4) 152
56, 60, 64, 68, ?

(1) 70 2) 71

(3) 72 4) 74

47, 41, 35, 29, ?
(1) 23 (2) 25
(3) 26 (4) 27
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10

17,19, 23, 29, 31, ?
(1) 33 (2) 35
(3) 36 4) 37

76, 66, 57, 49, 42, ?
(1) 34 (2) 35
(3) 36 4) 38

27,49, 64, ? 125, 81
(1) 56 (2) 64
(3) 72 4) 80

9, 11, 16, 13, 25, 17, 2, 19
(1) 18 2) 28
(3) 32 4) 36

27,33, 39, 45, 51, ?
(1) 56 (2) 57
(3) 58 4) 59

4,13,9,15, 16, 17, ?, 19
(1) 18 2) 21
(3) 23 4) 25

10

17,19, 23, 29, 31, ?
(1) 33 2) 35
(3) 36 (4) 37

76, 66, 57, 49, 42, ?
(1) 34 2) 35
(3) 36 (4) 38

27,49, 64, ? 125, 81
(1) 56 (2) 64
(3) 72 (4) 80

9, 11, 16, 13, 25, 17, 2, 19
(1) 18 (2) 28
(3) 32 (4) 36

27,33, 39, 45, 51, ?
(1) 56 (2) 57
(3) 58 (4) 59

4,13,9, 15, 16, 17, ?, 19
(1) 18 2) 21
(3) 23 (4) 25
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11

12

13

14

15

Directions (Q. 11-20) Each letter of
the alphabet from A to Z has been
given a value from 1 to 26 serially.
Solve the question on the basis of

value of words.

BLUE = 40, BORE = 40 then BUSH
=2

(1) 50 (2) 40

(3) 38 @4) 36

Choose odd one out?
(1) CART (2)
(3) BONY (4)

CENT
BLEW

Which Word has the Maximum

Value?
(1) BUCK (2) BUMP
(3) BANK 4) BONE

Which Word has the Minimum

Value?
(1) BULK (2) BORN
(3) BLUR 4) CAST

Which words have the equivalent
value

(1) POCH : CART

(2) TIEC:BOLT

(3) CITY : BURN

(4) JULY : ABLE

11

12

13

14

15

e (@ 119 20) A 97 T 9 U @
TP e’ BT A HA. 1 9§ 26 T {1 T
2| YR $ A9 B FMR W =ferad we g
Cill

BLUE =40, BORE =40 @ BUSH =

?

(1) 50 (2) 40

(3) 38 (4) 36

M A 2 59 I Y

(1) CART (2) CENT
(3) BONY (4) BLEW
fore g o1 A waifte &7

(1) BUCK (2) BUMP
(3) BANK (4) BONE
for W BT A WEW F9 27

(1) BULK (2) BORN
(3) BLUR (4) CAST
BN W I THF A P 27

(1) POCH : CART
(2) TIEC:BOLT
(3) CITY : BURN
(4) JULY : ABLE
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16

17

18

19

20

21

Which equation is Correct?

1) zP=M (2 R+L =W
(3 P+D=T @4) S+tK=U
BXR-CXF=7?
(1) N 2)
3 R 4 T
L A
— - — =7
P D
< N
® T @
D B
@ - @ -

Which word is equalent to 62.

(1) RECORD (2) RIGHT
(3) BLANK (4) MARKET
M1J | W
A|B|C
O|E | ?
1 T 2 W
@ P 4) R

Which one of the following words

will come at fourth place in the

dictionary?
(1) CROW (2) CHAR
(3) CLAUD (4) CORK

16

17

18

19

20

21

DI T THD T 2?
(1) ZP=M (2) R+L=W
(3) P+D=T (4) S+K=U

BXR - CXF = ?
1) N 2 M
@) R @4 T
L A
— - — =7
P D °
C N
ONE @ v
D B
@ 7 @4 5

f I BT A 62 &7
(1) RECORD (2) RIGHT
(3) BLANK  (4) MARKET

M J | W
A|B C
O|E|~?
@ T 2 w
3) P (4 R
ffered & § B & I IS § WY WM
TR JRAT?
(1) CROW (2) CHAR
(33 CLAUD (4) CORK
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22

23

24

25

Directions (Q. 22 to 35) :- In each of
the following figures, numbers are
written according to some Patterns
and one number is missing. Find
the missing number that replaces

the question mark (?)

1
3,8  6/>\3
136318 156531

(1) 22 2 27
(3) 36 4 42
38 56 35
/N /A /A
17 22 29 28 20 21
1 3 2 4
3 5 4 6

5 4 5
ANANIAN
1 5 2 3 4 4

(1) 49 (2) 64
(3) 80 (4) 81
2 1 5
6 4 8
(1) 170 (2) 172
(3) 174 (4) 163

22

23

24

Freer (3. 22 ¥ 35) el T E IS S A 1@
e 74 3R &8 Tt foredt 7 31 g
¥ % W W ¢ | g 6 9 B} A 5

forge ? & WM W S9ga @
7 913 18lu
1) 22 (2 27
(3) 36 (4) 42
38 56 35
A A /A
17 22 29 28 20 21
(1) 3 2 4
3 S (4 6
5 4 5
A\ A
1 5 2 3 4 4
(1) 49 (2) 64
(3) 80 (4) 81
2 1 5
6 4 8
(1) 170 (2) 172
(3) 174 (4) 163
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9 2 7 9 2
26 74 21@16 5@3 26 74 21@16 5@3
8 3 6 8 3

@ 9 (2) 15 1 9 (2)

(3) 18 (4) 21 (3) 18 (4)
27 27

(1) 80 (2) 82 (1) 80 (2)

(3) 89 (4) 99 (3) 89 (4)
28 28

1) 20 (2) 24 (1) 20 (2)

(3) 25 (4) 32 3) 25 (4)

1 1
7 2 7 2
16 | 11 16 | 11
23 ? 23 ?
29 8 9 3 29 8 9
22 15 22 15
191 17 191 17
6 4 6 4
5 5
Q) 13 (2) 16 1) 13 (2)
(3) 18 4) 20 (3) 18 4)

82
99
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30

31

32

33

34

SVZO 5>/17 12>/?
14 11 18
(1) 20 2) 21

(3) 22 (4) 24
(D X CXD
(1) 6 2 0
(3) 12 (4) 24
2 1 g4 74 5 3 2
%i:tié éti::é ‘ilglé;
5 5, 3 2 3 1 6 4 2
1) 5 2 6
@) 7 4 8
5 3 6
D—&B %—%1 ?—<£7
2 4 2
(1) 75 (2) 84
(3) 60 (4) 120
1) 4 2 6
() 7 (4) 8

30

31

32

33

8>/20 5y7 12y?
14 11 18
1) 20 2) 21

(3) 22 (4) 24
38R K
(1) 6 2 0
(3) 12 (4) 24
2 1 4 704 1 5 3 2
5 5 3 2 3 1 6 4 2
(1) 5 2 6
Q) 7 (4) 8
5 3 6
:{)—@3 16—%1 ?—<£7
2 4 2
(1) 75 (2) 84
(3) 60 (4) 120
(1) 4 2 6
(3) 7 (4) 8
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35

36

37

38

7 3 9
4 [325| 6 2 |i64] 8 5 | 2] 4
8 5 6
(1) 225 (2) 270
(3) 308 (4) 306

If the date 7™ of February comes on
Friday, then which day fall on 28"
of next month?

The February month is year of 2008.
(1) FRIDAY

(2) SATURDAY

(3) WEDNESDAY

(4) MONDAY

How many squares in the given

figure?
(1) 55 (2) 60
3) 62 (4) 63

If you are 20™ in a row from either
side, then how many persons are
there in arow?

1) 21 (2) 40

(3) 41 (4) 39

35

36

37

38

4 |325| 6 2 64| 8 5 | 2] 4
8 5 6
(1) 225 () 270
(3) 308 (4) 306
3 R HEM B W AN BT AR @ al
Il TEM B 28 TR BT DN 97 o BIT?
TRAY BT AT ¥ 2008 T 2 |
(1) PR
(2) YFER
(3) TR
(4) AHIR
fev my fo & fooem af 87
(1) 55 () 60
(3) 62 (4) 63
I o ufed # feelt f RR AW @ s
I 20 & @ ufed # fbae fa €2
(1) 21 (2) 40
(3) 41 4) 39
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39

40

41

42

43

Which pair of numbers is different

from the rest?

1) 5,11 2) 13,17
(3) 37,43 (4 16,25
38-13 = /5x5x?

1) 13 2 5

3) 25 4) 625

PEN is related to STATIONARY in

the same way in which CHAIR is

related to :-
(1) WOOD (2) FURNITURE
(3) ROOM 4) REST

SORROW : DEATH : : ?
(1) HAPPINESS : BIRTH
(2) GAIN: PROFIT

(3) HATE:FEAR

(4) FIRE : CANDLE

INTELLIGENT : CLEVER : : DULL : ?
(1) IDIOT (2) SLOW

(3) FOOLISH (4) CUNNING

39

40

41

42

43

ffeled § 94 o @ et a1 el o |
=T 27

(1) 5,11 () 13,17

(3) 37,43 (4) 16,25
38-13 = /5x5x?

(1) 13 ) 5

3) 25 (4) 625

ol BT G oG G @ B Sl S YBR
T & TR B

1) @ 2 ®w

(3) @ (4) "M

SORROW : DEATH : : ?
(1) HAPPINESS : BIRTH
(2) GAIN: PROFIT

(3) HATE:FEAR

(4) FIRE : CANDLE

INTELLIGENT : CLEVER : : DULL : ?
(1) IDIOT (2) SLOW

(3) FOOLISH (4) CUNNING
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44

45

46

Directions (Q. 44 to 46) : In the
Diagram given below, the Circle
stands for ‘educated’, Square for
‘hard — working’, Triangle for ‘urban
people’ and rectangle for ‘honest’,
the different regions of the diagram
are numbered from 1 to 12. Study
the diagram carefully and answer

the questions.

Urban
/T
Honest
5
1 Educated
\ 3 ; fere
Hard- [N/ a\J 2| 6
Working 11\ \
TRsE —> 9
12 8

10

Uneducated urban hard- working
and honest people are indicated by:
a 3 (2) 11

@) 9 4 4

Non-urban people, who are honest,
educated and hard-working are

indicated by:
1) 2 (2 8
3 9 (4) 11

Urban people who are hard-working
and uneducated, but not honest are

indicated by:
1 2 2 3
3) 4 4 6

44

45

46

Qe (7. 44 ¥ 46) Ry U fomr & ‘g Rifdra &,
‘T uRsAl &1 PR T8l @ @ o s
$AMER A 1 SRl v 8| o @
faftrr it @Y 1 9 12 @ @iF Ry T F

I (0% o P S ) AR T
TR T
%Jr;_\ﬁban
Honest /
5
1 Educated
forfer
3 7
Hard- AN ?| 6
Working| 11
Y 3%
10
MR aRerl iR SAMeER s A @ el
PR 8
1) 3 2) 11
@ 9 4) 4
N9l ot $AFER Rida i et @ €
S= Wefda for T &
1) 2 2 8
3) 9 4 11
TR T A aRsm o AR ¥ e SRR
Q) 2 2 3
3 4 (4) 6

12 \
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47

48

49

50

Directions : (Q. 47 to 50) There are
given five Logical Diagrams,
(A,B,C,D & E) Select one which best

illustrates the relationship among

(D

B

D

three classes.

@o

&

E

Birds, Fruits, Mangoes.
1 A (2)
3 D (4)

Vegetables, Potatoes, Brinjals
1 A (2) B
@) C (4 D

Grapes, Sweet, Fruit
@ A (2) B
@) C (4)

Children, Naughty, Studious
(1) E (2) B
@) C 4 D

47

48

49

50

foder : (7. 47 ¥ 50) wiw 7@ WG oA (A, B,
C, D, E) fiy 1y €| feg g i ai 4 v
T & U6 qRid 99 B R

Qo @

B

® &

E
fufsdi, vel, am

1 A (2)

3) D (4)
wfead, 3T,

1) A 2) B
@) C (4)
TR, el Bl

1 A 2 B
@) C (4)
T, IR, Fe9 el

(1) E 2) B
3) C (4)

13 \
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51

52

53

54

A hand of minute and a hand of
hour make an angle when at 12:27
O’Clock. What is the degree of
angle makes between the both of
hand?

(1) 1000 (2) 1200

(3) 127° (4) 162°

Find that odd out.
(1) 4,56 (2) 3,27
(3) 5,125 (4) 10, 1000

Directions (Q. 53 to 55) : In these
guestions from the given
alternatives select the word which
can be formed using the letters of

the given word.

LIEUTENANT
(1) TENTION
(2) ELEPHENT
(3) LINNET

(4) TEN NUTRIENT

PERMEABILITY

(1) PRIME

(2) MOBILE

(3) PERMANENT
(4) BUTTER

51

52

53

54

12 : 27 99 e 3R O7C 1 3 Mt @ P
I 81 4 o 3% B PI0T qAr 87

(1) 100° (2) 120°
(3) 127° (4) 162°
aTa () S e

(1) 4,56 (2) 3,27

(3) 5,125 (4) 10, 1000

Qe - (. 53 ¥ 55) T # QU faddl W @ 99

fiped 3t BIRRY o foT I & ol & T W
|

LIEUTENANT

(1) TENTION

(2) ELEPHENT

(3) LINNET

(4) TEN NUTRIENT

PERMEABILITY

(1) PRIME

(2) MOBILE

(3) PERMANENT
(4) BUTTER

14 \
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55

56

57

SOCIAL - MEDICINE
(1) DECIDE (2) LOCAL MEN
(3) DECEASE (4) MEDICAL

How many dots lie opposite the
face having five dots, when the
given figure is folded to form a

Cube?

1 1 2 2
@ 3 4) 6

Find out which of the figures 1, 2, 3,
and 4 can be formed from the

pieces given in (X)?

N

X

1) Ij )
3) > (4)

i
5

55

56

57

SOCIAL - MEDICINE

(1) DECIDE (2) LOCAL MEN
(3) DECEASE (4) MEDICAL
W9 < §e MM I TIHR FH G forg ey
T @ dl o {95 arell el di fandia e
R fba g ved 7

[ J
... ..

[ BN J

[ BN J

® o |e

[ I J [ J

e 06| o
@ 1 2 2
3 3 4 6

for (X) # g gwel @ fiemam fom 1, 2, 3 3R
4 % ¥ BN W T T G 87

N

(1) Ij 2)
>

3) (4)

U] Ls

15 \
Downloaded from cclchapter.in



58

59

60

61

62

Directions (Q. 58-60) : In each one
of the following question Choose
the correct mirror - image of the

figure / word from the alternatives

given with it?

STROKE

(1) eTsA02Id(2) EKORTS

(3) ROKETS (4) HAAOsAT2
DBV8476

(1) oLrgvaa (2)  6748VBD

(3) 8476DBV (4) ovr8vad

disturb

(1) diuiz21b (2) brutzid

(3) bi21uid (4) diuitsib

Directions (Q. 61 to 62) : Choose
the alternative which most closely
resembles the water image of the

given combination?

CHIDE
(1) EAQIHO (2 CHIDE
(3) 3AHDO &) DJHIA3
5DOB6V2

(1) gaoBens (2)  2A0BIAS
(3) 200BOAS (4)  2DOBEAS

58

59

60

61

62

59 : (7. 58 ¥ 60) fferaa et 4§ foy MU

form /v @ v § qE W U T fadent § @
B T o =

STROKE

(1) eTAOAHA() EKORTS
(3) ROKETS (4 AAOATZ
DBV8476

(1) owrgvdaad (2  6748VBD
(3) 8476DBV (4)  ovegvad
disturb

(1) diuiteib (2) brutesid
3 bizituid (4 diuisib

e (. 61 ¥ 62) W famew 1 T P o

vdl ¥ 9% 31 & vfafew s g
CHIDE

(1) EQIHD (2 CHIDE
3 3AIHDO @) DJHIA3
5DOB6V2

(1) gaoBeAs (2) PAOBIOAS
(3)  2A0B9AS (4) 2DOBeAS

16 \
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63

64

65

66

‘A’ is the father of ‘B’ and ‘C’, ‘B’the
son of ‘A’ but ‘C’ is not the son of
‘A’.What is ‘C’s relation with ‘A’?
(1) Daughter (2)
(3) Niece (4)

Son

Nephew

Introducing a man, a woman said,
His mother is the only daughter of
my father. How is the man related
to the woman?

(1) Father (2)
(3) Brother 4)

Son
Husband

Complete the letter series.
ba ba bbaaa bbb _aa
(1) abaabb (2) baabab
(3) babbaa (4) bbbaaa

Directions : (Q. 66 to 71) A wooden
cube with side of 4cm which is
painted red on all sides and cut into
small cubes of side 1cm. Answer

the following questions.

How many small cubes are formed

in all?
(1) 04 (2) 08
3 24 (4) 64

63

64

65

66

‘AB AR ‘C’ wIfmE ‘BA T e
Wy C'A” B F W 8| ‘C & A" H @
T 87

L (2 @

(3) el (4) e

U@ Aieel o [ AGAl 31 IR IR gU Hal
"I A W A B et 9 2| e @
f3el § DA TR 37

(1) foar (2

(3) (4

R A O |

ba ba bbaaa bbb _aa

(1) abaabb (2 baabab
(3) babbaa (4) bbbaaa

e (3. 66 ¥ 71) 4 H. A, 4T 1A DSl B D
T @ T AN e 1 ¥ T § | 39
ﬁ@\ﬁo‘ﬂoﬂﬁﬂﬁl@[ﬂ‘ﬁﬁmwgl
fomfd welt @ SR <)

3 e 8IS B9 9 T &7
(1) 04 2 08
3) 24 4) 64
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67

68

69

70

71

How many times the cube is cutted

out?
(1) O4times (2) 08times
(3) O09times (4) 12 times

How many small cubes will be
whose three faces are coloured?
(1) 8 (2) 10

(3) 12 (4) 18

How many cubes will have one face
painted only?

1) 24 (2) 28

(3) 30 4) 32

How many cubes will be whoose
two faces are painted?

(1) 16 (2 24

3) 36 4) 40

How many cubes will have no face
painted at all?

1) 12 2 8

(3) 10 4) 4

67

68

69

70

14

B BT fdbal IR Prer T &7
(1) 049K 2) IR

(3) 099K (4) 128R

W T BIc o gt forant i s T g8 &7
(1) 8 (2) 10

(3) 12 (4) 18

W o o9 89 foFa aa 1@ & W T g
&7

(1) 24 (2) 28

(3) 30 (4) 32

W o o @t fora 7 wae vt g8 87

(1) 16 (2) 24

) 36 (4) 40

W T o B ol 318 ot Tas T g T
4

1) 12 2) 8

(3) 10 (4) 4
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72

73

74

Directions (Q. 72to 73) : A man
starts to walk and goes 3km north,
then turns to west and goes 2km.
He turns north and walks 1 km and

then moves 5km towards east.

How far is he from the starting

point?
(1) 11km (2)  5km
(3) 10km (4) 8km

In which direction he now may be

from the starting point?

(1) North

(2) East

(3) North - East
(4) West

Directions (Q. 74 to 75) : Six friends

are sitting around a dining table in

the following order.

(A) B is sitting opposite to D.

(B) E s sitting beside D and
opposite to C.

(C) Aison the left side of the
table facing F.

Who is sitting on the left hand side
of A?

(1) B 2 C

(3) E 4 A

72

73

74

9 (3. 72 ¥ 73) T NS o SIRAT IRAT &
3 T8 SR P 3R 3 A, T & R oRew

31 AR e 2 o) 2 f. o 2| 9 SR A
3R Tea 2 ok 1 fooll, T € ok iR 9 @
3R 5 forll, e B

ARG W ¥ 98 foal ¥ 87

(1) 11 foH (2) 5

(3) 10 o (4) 8 fa
ARG I ¥ 98 39 e o # @ W 87
(1) S

2 W

(3) S

(4) R

e : (7. 74 9 75) 6 o Ao @ 991 & ARI
R i w9 4 93 2|

(A) B,D d lkeu cB gA

(B) EDd Ik cB g vk Ccd

fkeu gA

(C) AHktu dh et d ck;h vkj F
d lkeu gA

A & IR 3R DI 997 37

(1) B 2 C

) E 4 A
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75

76

1

Who is sitting on the right hand
side of F?

(1) B (2) E

3 D 4)

Directions : (Q. 76 to 80) Consider
the figures given below.

N =V

Which of the above figures is

embedded in the figure given

below?
Q) s (2) r
@ p 4) u

Which of the above figures is not

embedded in the figure given

below?

\\ 74
1 q 2 r
Q) s 4 p

75

76

77

F & Tfi 3R @M 937 g &7
1 B 2 E
3) D (4)

fader : (7. 76 3 80) ¥ oY for W faER |
N, = 4V

PN O SWied 2 < oy M o # Al @2
1) s (2) r

3) p 4 u

P O SR fo T Ry T fo 7 ARk TR
2l

\\ /74
1) q 2
3) s 4 p
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78

79

80

Which of the above figures is
embedded in the figure given
below?

1) q 2 t
3) u 4) s

Which of the above figures is not
embedded in the given pattern?

L p 2 «q
@) r 4) v

Which of the above figures is

embedded in the following figure?

Q) s (2) r
B3 ag 4 v

Directions : (Q. 81 to 90) : Each of
the following questions consists of
two sets of figures. Figures A, B, C
and D constitute the problem set
while figures 1, 2, 3, and 4

78

79

80

PN 1 SR o7 T Gy U fo | ffEa 87

1) q 2 t

(3) u 4) s

IWIE & ¥ dH w1 fF AR ey v R &
fafea e &2

1 p @ d

3) r 4 v

IWIE & ¥ dH w1 fF AR ey v R &
fafea = &?

1 s 2

3) ¢ 4) v

a9 - (7. 81 % 90) FTifee ol H forll @ @
W 8| i A, B, C 8k D e @
& Tl i 1, 2, 3 4l 4 IR T T &

forr A 3l B # @ Ffea e €| SR o
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81

82

constitute the answer set, there is a
definite relationship between
figures A and B. Establish a similar
relationship between figures C and
D by choosing a suitable figure (D)
from the Answer set.

PROBLEM FIGURES

al=mE

A C D
ANSWER FIGURES

(1) a (2)
3) m (4)

PROBLEM FIGURES

o)

A B C D
ANSWER FIGURES

(1) ‘A’ (2)
4) 0@0

o0 ?

3)

Py

81

82

% ¥ 1% SIYA o7 (D) FT 7 I G Sl
@ 99H i C 8k D & aw @il |

3) (4)

(1) a (2)

00 )

(1) ‘A’ 7
3) ‘&‘ @)
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83 PROBLEM FIGURES

84

85

@

\

®

A

B

C

ANSWER FIGURES

(1)

3)

P

&>

D

(2)

(4)

PROBLEM FIGURES

iz

g

)| | -

B

C

ANSWER FIGURES

(1)

®3)

Iy

E»

D

(2)

]

(4)

Ot

PROBLEM FIGURES

=

44—

R/

oIk

S,

c

ANSWER FIGURES

(1)

3)

D12

(2)

()

(4)

(D

85

v |

3)

(2)

(4)

(1)

(2)

]

3) % 4) 4El—
e oA

SISOk
wAﬁa B D

(1)

® R

(2)

(4)
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86

87

88

PROBLEM FIGURES

04|
A B C D
ANSWER FIGURES
.
O Nl @ |
N
(3) 1] @ ﬂ

PROBLEM FIGURES

Q

©

A

B

C

ANSWER FIGURES

(1)

®3) X (4)

(2)

PROBLEM FIGURES

>

O

@

N

A

B

C

ANSWER FIGURES

(1)

3)

(0
®

(2)

(4)

86

87

88

04|
B C D
&R om0
.
O [*kl@ |
N
(3) 1 @ ﬂ
e oA

(1)

3)

>

O

(1)

3)

(2)

(4)

@ [©
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89 PROBLEM FIGURES

90

O
O
AR\

A B

ANSWER FIGURES

o |
o | =

PROBLEM FIGURES

(2)

(4)

c

D

ful | | 4o

iy

1]

A

ANSWER FIGURES

(1) W

—

o [N

—

(2)

(4)

il

%

MM

90

1) M 2 j,
(3) E 4) E
I LRI

o M o LI

o [T

(4)
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PART - [ J91T- 117
SCHOLASTIC APTITUDE TEST

SRR IR

Questions : 90 to 180

91

92

93

Which of the following is not a unit
of time?

(1) Solar year

(2) Tropical year

(3) Leapyear

(4) Lightyear

An athlete runs some distance

before taking along jump because

(1)
(2)

3)

(4)

It helps to apply a large force
By running the athlete gives
himself larger inertia of motion.
It gains energy to take him
through large distance

By running action and reaction

force increases

Sound waves are also called as

(1)
(2)
3)
(4)

Elastic waves
Electric waves
Magnetic waves

Light waves

91

92

93

T ¥ B 7 99 BT a9 TE 2

(1) SR T

(2) SUGRHY ¥

(3) ouad

(4) v

T 38 W Teel RSl g5 R A AR

3T &, R

(1) SRS ot o Heg Ferd Bl

(2) TSI I I RaS! I A
T e WG B B |

3) o Rgare! e S I e
2 T T 0@ a2 ¥ |

(4) <SR AN ¥ fohar qer ol
@I 91 9¢ T & |

@y T fd JeR P T R

(1) TR A

(2) faga

(3) TR

(4) v
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94

95

96

97

Density of water is
(1) 1000 kg m/s
(2) 1000mg/m?
(3) 100 mg/m?
(4) 100m?3/ kg

An astronaut feels his weight in

Space

(1) Infinite

(2) Smaller than on the earth
(3) Zero

(4) More than on the earth

Why sound heard when a rod

strikes a school bell.

(1) The air particles from the bell
flow into our ears.

(2) The air particles from the bell
vibrates and pass the signal to
our ears.

(3) The air particles from the bell
vibrate and produce longitudinal
waves which flow through the
air into our ears.

(4) The wavelength of sound waves
is large enough to produce
sound.

Phases of moon occur because

(1) We can see only that part of
moon which reflects light
towards us.

(2) Our distance from moon keeps
changing.

(3) The shadow of earth covers
only a part of moon’s surface

(4) Thickness of moon’s
atmosphere is not constant.

94

95

96

97

T B B BT A B

(1) 1000 fo5m. #iex vy dferve
(2) 1000 fell I1 9fd o9 Hiex
(3) 100 el 7. 9 & #ieR
(4) 1000 BHIER i fob. .

T ARy I aF SfaRer # o1 9R oTal

gl

(1) 3

2) I WY A

k) I

4) A WAR ¥ 3D

W4 U6 B B fdeme ot g W HRT ST 8

o & @ FIE ol @ i

(1) YD G G W TN A aD
g B

(2) ©A W IY D VI H FE UaT
Bl & 3R T R @ 3R B 0
Wordl & |

3) EAHAY D FUIH W B
FR e T U7 BN & ol
TR THI @ Tgad ¢ |

(4) & B R 991 8F B BRU
TE G BT U R B

TA o1 fIf=T Feell @ afed 8 @1 FR

(1) B9 9= & 98 R <9 U &
T BT BT BRI AR TRIafid BRa & |

(2) TEA W TN W AR e
g

) T B WOR TEH & ¢ T/
R TS &

(4) TEH R IHISA B AT
e Y& &
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98

99

100

101

Which one of the following is best
conductor of electricity ?
() Silver (2) Gold

(3) Carbon 4) Diamond

A ball placed on a table starts
rolling when table is tilted. Which is
the force that causes the motion?
(1)  Friction

(2) Push by table

(3) Rolling force

(4) Gravitational pull by earth

Pressure affects the boiling and
freezing point of water. Extreme
pressure under a glacier can cause
the ice to melt at temperature

(1) above 0°C

(2) below 0°C

(3) around 0°C

(4) ato°C

On holding a stainless steel spoon

near our face, we see

(1) Our laterally inverted image on
inner side of spoon.

(2)  Ourinverted image on inner
side of spoon.

(3) Our inverted image on outer
side of spoon.

(4) Our erect image on inner side of

spoon.

98

99

100

101

T ¥ BN W W g 91 WY e

GaleTd @ ?

(1) Td (2) ®

(3) 4

4ol DI U6 TR FEM T S R Gl I3 el
T I geadl 5| 9 3@ 3 RO A4S
WO g ?

(1) =

(2) WD I D PRY

(3) P

(4) Tod o

919 U @ FRMIS SR S g W e
T & | TARRR B AR e W @
PR T fod TH R e g% @ o
gl

(1) 0°C¥ T ®

(2) 0°CY T R
(3) 0°C & UM AU W
(4) O0°CW

Th o I & 7d P dex & U G

R &9 o8 & f&

(1) 0 B <X I RS TG T Seel
yfafdq fewrg <

(2) TG B IR B W Secl ffdd
fewrg < |

(3) I¥E B 9N B NG Seel ffde
e < |

(4) T D X P RG Gl e
fewrg <
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102

103

104

Which of the following cannot be
charged by friction.
(1)

A woollen cloth

(2) Aninflated balloon

(3) A plastic Scale

(4) A copperrod

Which of the following is the
electronic configuration of a non -
metal :

Q) 2,81 2 2,8,2

3) 2,8 4 2,87

Burning of wood charcoal does not
produce flame because

(1) Calorific value of wood charcoal
is less.

(2) Flame of wood charcoal is
invisible.

(3) Wood charcoal does not
vaparises.

(4) Ignition temperature of wood

charcoal is high.

105 Match the following

A

PN PR

List - 2
1. Motor fuel and dry

List-1

L.P.G.

cleaning

Diesel 2. Fuel used in house and
industry

Kerosene 3. Fuel for heavy vehicles

and gensets

Petrol 4. Fuel for stove, lamp
A B CD
3 4 1 2
2 3 41
2 1 3 4
1 2 3 4

102 T ¥ foual o4 & gRT Al el foar
T e 2|
(1) o T3
(2) TN
(3) WIRSE & Wl
(4) T4 @ B

103 19 ¥ ¥ BN W SolagiG (9 T g
P & |l &

1) 2,81 2) 2,82
3) 2,8 4) 2,87
104 ABS BT PR el T el G f8

T a1 Wife
(1) ode & PRI BT FOY T BH &Il
2|
(2) TGS B BRI DI Tl AT BN 2
(3) B B PRI AT el B |
(4) THS D DRI BT Sdoi q 3G & |
105 o &1 e &)
-1 -2
A LPG 1. AXRFHAILS
T
B 3 2. R g SE ¥ §M
P A
c fedwad 3. ¥ Aiek a8 9 oF ¥
1 g
D U 4. 4T AT I FH
A B C D
1. 3 4 1 2
2. 2 3 4 1
3. 2 1 3 4
4. 1 2 3 4
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106

107

108

109

110

A plastic which is bad conductor of
heat and electricity is used to
manufacture electrical switches

and handles of utensils. the plastic

may be
(1) Bakelite (2) Polyethene
(3) Melamine (4) P.V.C.

A +H,S50, — ZnSO, + H,What is A
in above reaction?

1) Mg (2) Zn

(3) NH, (4) NaOH

Which out of following is not a
natural fibre?

(1) Jute (2)
(3) Cotton 4)

Wool
Nylon

Which of the following acids is
called the king of acids?

(1) Acetic acid

(2) Phosphoric acid

(3) Sulphuric acid

(4) Oxalic acid

Calorific value is the amount of
heat energy produced by complete

combustion of how much amount

of fuel?
(1) 1g (2) kg
(3) 100g (4) 10g

106

107

108

109

110

WP Ied < & 9 g &1 gaes @,
fie a9 @ Tl & ged TM & S S
2| T8 WP & el & |
(1) dEEmEC ()
(3) WFET  (4)

Urefigeiv
IR

A +H,S0, = ZnSO, + H, SR

RS affHa § A w8

(1) Mg @ 2zn

(3) NH, (4) NaOH
Pt 4 & B & e e ¥
(1) T () (2

(3) @M (4) e

frT el § @ BIF WT 3, Sl BT ToT
AT &7

(1) D gt

(2) DROIRG =

(3) WD e

4) Jrfe =

S A ot o o foee W @ ot
T 9 UK S o @) A BT B 87
(1) 19 (2)  1kg

(3) 1009 (4) 109
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111

112

113

114

115

An amalgam of a metal has which
other element?

1) C (2) Ag

(3 Mg (4) Hg

Water gas in a mixture of
(1) COandN, (2) CO,andH,
(3) COandH, (4) CO,andN,

The lowest temperature at which a
substance catches fire is called its:
(1) Boiling Point

(2) Critical temperature

(3) Melting point

(4) Ignition temperature

In which female reproductive organ
does the embryo get embedded?

(1) Uterus (2)
(3) Ovary (4)

Oviduct

Testis

Increase in temperature due to the
increase in the Carbon-di-oxide gas
in the air leads to____

(1) Green Revolution

(2) Green Environmental Effect

(3) Green House Effect

(4) Green City Effect

111

112

113

114

115

WH@$WT*—T (amalgam)ﬁ?@ﬂﬂc‘c[
P M B &7

(1 C (2) Ag

(3) Mg (4) Hg

o A | @ o 1 s 2

(1) COandN, (2) CO,andH,
(8) COandH, (4) CO,andN,
98 A A1 9 R 31§ &R} T o
I8 SNIPT FAT el 87

(1) @S

(2) fhciad A

(3) TP

(4) o dM

o QT ST # T S B 37

(1) e (2) S

(3) 3RRE (4 g

Y ¥ DET-SR-SIES B AT 96 A
T ¥ 3G & PROL..... BT 5 |

(1) ERdif
(2) R R P
(3) R W WE

(4) BRI IR ™M@
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116

117

118

Name the male hormone

responsible for secondary sexual

characters.
(1) Estrogen (2) Thyroxin
(3) Insulin (4) Testosterone

Which of the following is essential
for the production of thyroxin that
changes a tadpole to a frog?

(1) Sodium (2) lodine

(3) Nitrogen (4) Oxygen

Select the statement which is not

true about ‘Fertilisers’

(1) Fertilisers are manmade
inorganic salts.

(2) Fertilisers don’t provide humus
to the soil.

(3) Fertilisers are only rich source of
nitrogen and phosphorus, but
for potassium we have to
depend upon manure.

(4) The term organic farming is not

related to fertilisers.

116 <9 Uy g T 79 Fa0 9 N ol

117

118

TGN B fov TR & |

(1) TEhH (2  IRRIfRHE

(3) M () R

fice % ARige ERT ST g RN

W 399 R ¥ A 9 § WEHD , b
fore f=1 4 @ D1 T<a IS ©7
(1) Wemw () AR
(3) TRgM  (4)

RIS €% ¥ TR ol 7o be e 8

W 7|

1) RS @] 499 gRT M srfde
T 2 |

(2) YEEMG @g Fed @ g YeH
el Bl |

(3) TG WIE Mg 3R GRORH &
W G & TR Urenerd & forg &
e GIE W PR & 96 & |

(4) ifdF T G IWENE G5 W
G Tl 8 |
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119 The term “Fermentation” is used for

120

121

122

the process that is used to:

(1) produce vaccine to prevent
various diseases.

(2) convert sugar in alcohol

(3) fix atmospheric nitrogen in the

soil and thus increase its fertility.

(4)  help in cleaning air from
pollutants.

Select the Endemic Species of
Panchmarhi Biosphere from the
given options.

(1) Flying Squirrel

(2) Elephant

(3) Wild Cat

(4) Neem Tree

Plant cell differ from animal cells in
having additional layer around the
cell membrane. This layer is known
as:

(1) Cell coat

(2) cell plasma

(3) cell envelope

(4) cellwall

In Delhi - NCR we observed a thick
fog like layer in the atmosphere
during winters. This is called as
SMOG which is made up of:

(1) Carbon-di-oxide and water

(2) smoke and fog

(3) dust and smoke

(4) smoke and carbon-di-oxide

119

120

121

122

e v @ SWN W& fb & forg fon

o & | o gRI-

(1) faff= i 9 9@ @ fow der R
T & |

(2) T BT Yedlee § URdRT fr S B

(3)  TRpTvCl TR 1l ¥ e

B 2 T Wl IR ¥ afg 2 2
(4) T & I W FEIR B A
73T T &
fe v et # & foy & oty g+ <
ToMe) Wauved SREM &7 3 g 9l 2
(1) S arel e
() T
(3) el fdcel!
(4) W @1 U
Iy PIRIGT S PG § B 3R &
i PR el & R AR @ AR
TRT BNl & 9 P! &
(1) PIE o
(2) DI Qo
(3) 3IfEr 3T
(4) SR Wi
il & T feel-TeleI} & argHved 4

TP T PR B IR TOR T B[ T GO
(SMOG) P& & | T€ T Bl &

(1) PET-SE-3NaRs 4 T 3

(2) U3R PR

(3 YR

4) 3R FRTSR-3ES |
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123

124

125

126

The main function of Adrenal Gland

in the humans is:

(1) Maintain the correct salt balance
in the blood.

(2) Helps the body to adjust to the
stress when one is very angry,
embarrass or worried.

(3) both (1) & (2)

(4) neither (1) nor (2)

Adam’s Apple is a common name of:

(1) avariety of apple grown in
Kashmir.

(2) musical instrument.

(3) an emblem of IndiaCompany.

(4) growing voice box of boys can
be seen as protruding part of
throat.

With a microscope of higher
magnification a smaller spherical
darkley stained body in the nucleus
is observed. Which is a:

(1) gene 2)
(3) nucleolus (4)

chromosome

nucleoplasm

Solve and simply to lowest terms

1 -4 =4
EXTXT
Q = @ =
3 3
—4
@ 1 @

123

124

125

126

TN H Ulgd AR @1 5= o

(1) SRR A T B A BT Gford AT

(2) PM, 2T vd IO SR § q99 B
A G|

(3 (1) T (2) ol

(4) (1) T (2) F9 IR T

VR W' T AR T g |

(1) TP I9 9 oo o ol $R 5 I8
T g |

(2) & 9 a1

(3) T R B B WD @l

(4) @Sl ¥ 9ed §Y WRAT F T B
AN 1 3R T IR AT B Y A
fwrg < &

9o SqH ST ATl IRl @ Qe R
Pd ¥ UP BIe! TE T TR T B AR
fear < @ o & U@

@ (2) A
(3 @ (Yewicw) (4) Py

= TR T T |
1 -4 =4
3% X 4
(1) 2 (2) 1
3 3
—4
@ 1 4) EY
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127 If the sum of three consecutive 127 IR 5 P TS I U G BT WS 300
multiples of 5is 300. Find the g o G gRf?

numbers. (1) 99,104, 109
(1) 99,104, 109 (2) 95,100, 105

(2) 95,100, 105 (3) 100, 105, 110
(3) 100, 105, 110 (4) 105,110,115
(4) 105,110, 115

128 U Wl 4 U ol (ol T 3R gleedl &

128 A survey was done in a school and R TRl & geR @1 fou oM a1l Hel @
following graph chart shows number of P T e § Rwrn
hours for which students study in a
day during holidays. 100
90T
100 so4
80T . 70T |
ol _ B eop B
% 604 __ s 504+ —
;‘,;_, 504 E 40 —
E 404 304
[ 304 H [ 204 — H
20T 104 I_I
|_|+D S A 2

1 2 3 4 5 6 7
Hours

—> e

How many students study for less fepem foenffal 3 o o 9 f 7 WE A ?
than 3 hours? 1) 70 2) 40
1) 70 (2) 40 3) 60 @) 50
(3) 60 4) 50
129 There are 24 students in a class, 120 U bl # 24 foemefi €| for @ 11 wrefeai

out of which 11 are girls. It a %|ﬁwmwﬁaﬁﬁw%a’r
teacher randomly picks a student, THD ST BN P T GG B ?
what is the probability that the '11 13
students picked is a boy? (1) P (2) o

11 13

= — 1 24
(1) 24 2) 24 (3) 1 4) -
g L n 2
3) 24 () 24
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130

131

132

133

134

Which is the smallest number that
can be used to divide 383328 to
give a perfect square?

1) 22 2 21

3) 32 4) 13

Which of the following choices is

the value of 3/_729Q

1 -9 2 -5
(3) 2 @) -1

Pradip sells his two cycles at the
rate of Rs 200 each. On one cycle
he gains 6% while on other cycle he
incurs a loss of 6%. Find his total %
loss/gains in whole transactions.

(1) No profit, No loss
(2) 3.6% loss

(3) 0.36% loss

(4) 0.36% profit

Harsh borrowed Rs. 8640 from
Divya at the rate of 14% simple
interest per year. He then returned
the money after 3 year and 10
months. How much money he
returned?

(1) 132768 (2)
(3) 14636.8 (4)

4636.8
3276.8

Find compound interest on Rs.
10000 for 3 years at 2% per annum
compounded annually.

(1) 673.288 (2
(3) 629.08 (4)

612.08
550.872

130

131

132

133

134

I8 PF W GeW B e & o 383328 I

AN &% W 0% I 7 9 & ?
1L 22 @ 21
3 32 4 13

T ¥ o @ g 32729 & A &l
1) -9 2 -5

3 2 4 -1

T ¥ T bl B 200 YD Agiehel g9 |
T Hfoa W I 6% AN ol 3 oI
R 6% T | SHT Gel BT /AN % I
Ll

(1) M, TN

(2) 3.6% 3N

(3) 0.36% &M

(4) 0.36% A

T 7 foar ¥ %. 8640 SO forv fomman &
14% R S ATl & | Se 4 o
el <9 WeM @ 915 difud R fedT| 9ue
e v anfre fopam 2

(1) 132768 (2) 4636.8

(3) 14636.8 (4) 3276.8
10000 9 BT 2% Faa A R A3 T/ B
for Thfe @ T BT Wele T it
T T R |

(1) 673.288 (2) 612.08

(3) 629.08 (4) 550.872
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135

136

137

138

139

140

Simplify (ab-3bc)? + 6ab?c
(1) a?b?*tab?c?-ab’c

(2) a?h?+9b2c2+6ab’c

(3) ah?+9hc?

(4) 9a?b?+b2c?

Simplify the following expression
(3x+2) x (3x+1) x (-2x+1)

(1) -18x3-9x2 + 5x+2

(2) -18x3-9x?-5x+2

(3) -18x®+9x2+5x +2

(4) 18x®-9x2+5x+2

Find the volume of a cube whose
total surface area is 486¢cm?

(1) 8lcm?d (2) 729cm?
(3) 486cm3 (4) 786cm?

Find the value of m for which
5m. 53=5°

1 3 (2 1

@) 2 4) 4

If a box of sweets is divided among
24 children, they will get 5 sweets
each. How many would each get. If
the number of the children is
reduced by 47?

(1) 4 (2) 6
(3 8 4 2

Simplify 12a8b® < (-6a°b%)
(1) 2a?b (2) -2a%h*
(3) a%* 4) -a’b*

135

136

137

138

139

140

g1 B : (ab-3bc)? + 6abZc

(1) ab*tab?c?-ab’c

(2) a?h*+9b?c?+6ab’c

(3) a?b?+9bc?

(4) 9a’b’*+b?c?

T W

(3x+2) x (3x+1) x (-2x+1)

(1) -18x3-9x2+ 5x+2

(2) -18x*-9x2-5x+2

(3) -18x®+9x%+5x +2

(4) 18x3-9x>+5x+2

9 B Pl A H B} [GHT O
g7%d 486cm?R |

(1) 8lcm?d (2) 729cm?
(3) 486cm?3 4) 786cm?

m & 4 §d & 5"+ 59=5°

1) 3 2 1

3) 2 4 4

IR 24 = ¥ (@ e folg 36 e T
WY @l & Ud Gl 5 Morg i | I =l o
G 4 T R AT AR B B e
firarg fiverf |

1) 4 (2) 6

3) 8 (4) 2

Tl B 12a%08 = (-6a°h?)

1) 2a? b )
3) a%* (4)

-2a’b*

-a’h*
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142

143

144

Find the angle X in the following
figure

1) 120
(3) 150

How many sides does aregular
polygon have if each of its interior
angle is 165°

1) 24 2) 22
(3) 26 4) 20

Following graph shows the yearly
sales figure for a manufacturing
company

- b
® o N

[«)]

Sales (in Crores)f (77 1)
i

N

1
2002 2003 2004 2005 20

Year (a9)

1
I
I
I
I
I
1
I
I
I
I
|
06

Compute the difference between
the sales of 2002 and 2006

(1) 4 crore (2)
(3) 8crore 4)

2 crore

6 crore

Minimum faces of a polyhedron are
(1) 6 2 4
3 8 4 2

141 @ TS AT F DT X FT AW A B

142

143

144

(1) 120 (2) 140

(3) 150 4) 160

W FRf agea ot Rl el eFl R &

TP 3 DIV BT A9 165° T |

(1) 24 2) 22

) 26 (4) 20

A for T T T e @ R B

Fdel e 2|

124

£ 10l

E ool |

g b

o 6: i I i i

c 1 | | 1

A L R R B N

o 1 I I I I i

g 2+ Vo 0 b
R R R

1 1
2002 2003 2004 2005 2006
Year (ad)

2002 3 2006 ¥ fshl T I} TRl

(1) 4crore (2)  2crore
(3) 8crore (4) 6 crore
W 9g0d B Y IS &l |

(1) 6 2) 4

3 8 4 2
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146

147

148

149

If Chameli had Rs. 600 left after
spending 75% of her money, how
much did she have in the

beginning?
(1) 2400 (2) 2000
(3) 1500 (4) 3000

What is kept in the National Archives of

India?

(1) Historical Records

(2) Dresses of Mughal Emperors

(3) Tools and weapons of the early
man

(4) Bones and clay tablets of early
man

Which of the following rulers is also
known as ‘Tiger of Mysore’

(1) Mir Jafar

(2) Mir Kasim
(3) Alivardi Khan
(4) Tipu Sultan

The demand for which crop
increased in 18" Century Britain
due to industrialization?

(1) Clove (2)
(3) Indigo 4)

Maize

Tea

When did British Government pass
an act banning the use of printed
cotton textiles in England?

(1) 1724 (2) 1720

(3) 1725 (4) 1726

145

146

147

148

149

e Tl & U Gl U8 D 75% BT GY A
3 % F. 600 TW T O YT A S T
et fr off?

(1) 2400 (2) 2000

(3) 1500 (4) 3000

URT B IS AR § T @M e 87
(1) iRk Ree

(2) T AR B TAD
(3) IRM% AHA & 3iNTR  BPRR

(4) IRMR® A DI ST T Fd-Ufccdi

ffole 3 & o TG @1 RR B W D
Y § 4 ST o &

(1) ¥R SR

(2) IR FINM

(3)  3eladl @M

(4) Y Yo

IeNfeERT & BRO 189 T B e ¥ fow
B P! T §5 Tg?

(1) @ (2)  H@

(3) 4) ™

fafer E¥aR 7 BU g G PUS & WA W &
e e @9 wRa foar?

(1) 1724 (2) 1720

(3) 1725 (4) 1726
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151

152
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154
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Who was a severe critic of Orientalists?
(1) James Mill

(2) Thomas Colebrooke

(3) William Jones

(4) William Bentinck

Who wrote the book ‘Gulamgiri’?
(1) Shri Narayan Guru

(2) Jyoti Rao Phuley

(3) Haridas Thakur

(4) Periyar Swami

Most of adivasis followed which
type of cultivation?

(1) Intense (2)
(3) Zhoom (4)

Horticulture

Mixed Form

Which of the following place was
not a centre of the great uprising of
1857.

(1) Meerut (2)
(3) Lucknow (4)

Delhi

Lahore

When did Delhi become Capital of
British India?

(1) 1758 )
(3) 1947 (4)

1911
1907

Kharra artists belonged to
(1) Chennai (2)
(3) Kalighat (4)

Mumbai

Chhattisgarh

150

151

152

153

154

155

AT & & AAdd DI o1

(1) = fid

(2) <4

(3) faferm iw

(4) faferm dfew

TAARRY [6dd & oGh 8-

1) A TR TE

(2) AR g

(3) &RaM dax

(4) URIR W@

fererer anfeartt f6e yoR @ Tt Pxa
g7

(1) T (2)

@) (4) WBE-wu
frfaiad & § PN 1 I 9 1857 @ e
fogie @1 og T o

(1) ¥ @ feeh

(3) T (4 @RR

fooen fafesr — wRA o oI 39
gI?

(1) 1758 (2) 1911
(3) 1947 (4) 1907
o feFeR! &1 Gey fog | o7

1) Ik 2 7
(3) rMgE  (4) BURAG
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When did Quit India Movement start?
(1) March, 1942

(2) August, 1942
(3) September, 1942
(4) December, 1942

When did Haryana State come into
being?

(1) 1963 2)
(3) 1965 (4)

1950
1966

Haryana does not share boundary
with

(A) Uttrakhand

(B) Himachal Pradesh

(C) Rajasthan

(D) Madhya Pradesh

(1) A&D (2) C&D
(3) A&B (4 D

What is a population Pyramid?

(1) Agraphical presentation of the age,
sex composition of population.

(2)  When the population density of
an area is so high that people
live in tall buildings.

(3) Pattern of Population in big
cities

(4) Population Density

Green diamond is found in :
(1) Antarctica

(2) Africa

(3) North America

(4) Australia

156

157

158

159

160

RA B! el P9 ARAT Ga?

(1) 9, 1942

(2) TR, 1942

(3) RIORR, 1942

(4) [oRR, 1942

SR oY R H B e

(1) 1963 (2) 1950
(3) 1965 (4) 1966
RAT 3 W R T @ T8 o
87

(A) TS

(B) feuma wew

(C) NoRIH

(D) ¥&T W<

(1) A&D (2) C&D

3) A&B 4 D

tuli[;k fijkfeM D3k g\

(1) S o g (o Heed @
JelRaa feaor |

(2) 9 foil & 1 S ST e
T & [ ART $d1 3ARAl H T ¢

(3) 3 T &3 § Faw o &
Yl SITHET G |

(4) ST 9 |

T ERT TR oIl B
(1) Sfcrfea
(2) 3w

(3) S W
(4)  3mgferan
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What is Alfa - Alfa?
(1) Tree (2)
(3) Grass (4)

Industry
Plant

The place where a river meets an
ocean or sea known as?

(1) Delta

(2) Head of river
(3) Mouth of river
(4) None of these

In which ocean does Tongaisland
locate?

(1) Indian Ocean
(2) Atlantic Ocean
(3) Pacific Ocean

(4) Arctic Ocean

Which state functions as water
divide region between Indus river
system and Ganga river system?

(1) Jammu and Kashmir
(2) Haryana

(3) Punjab

(4) Himachal Pradesh

Eastern Tamilnadu gets rainfall
from which winds?

(1) South -West Winds
(2) South - East Winds
(3) North East Winds
(4) None of these

161

162

163

164

165

BT ST T Bl &7
1 U ) wEm
3) U™ (4) O

Wl 7Y, FEER 3T TR 7 fierl @S9
I B 1 Bl Wl &7

(1) S

(2) T4 @A

(3) HrM

4) TR T

NTF §Y 8 @I ¥ TETERR H R &7
(1) f< =R

(2) Y FENMR

(3)  TId HENIR

(4) M@CH TR

3 |1 oy Ry 79 7 TG T AN 3 B
T Ol fIIe & w9 & SR Rl 87
(1) SR TR

(2) eRam

(3) Uud

4) faEd vew

dt ARt # st f Taet G &K 87
(1) <Rl uem gae

(2)  for gl vae

(38) W Tl U

(4) T E PR T
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Saal tree mainly found in which
type of forests?

(1) Tropical Evergreen Forests
(2) Thorny Forests
(3) Tropical deciduous Forests

(4) Mangrove Forests

Continents consist mainly which
igneous rocks?

(1) Basalt
(2) Granite
(3) Niese

(4) None of these

Golden fibre refers to
(1) Coffee (2)
(3) Tea (4)

Jute

Cotton

When was the constitution of India
prepared?

(1) November 1946

(2) November 1947

(3) November 1948

(4) November 1949

How many members are nominated
by the President in Lok Sabha

1 2 2 4
(3) 10 @) 12

166

167

168

169

170

el 9&1 qEad T 991 # 9 o 87
(1) ST Fced FeRRT 3

(2) @Rl H

(3) SV HicI ydge o

(4) g

TR ¥ J@Id: B W Y 9eeH Uy
o 8 ?

(1) e

(2) e

3 T

(4) THUTRT

IR T W A &

(1) @ 2 T

(3 4 N

YRT &1 GI9EnT &9 39 &R IR
gT?

(1) 4R, 1946 I

(2) AWK 1947 P

(3)  FIRR 1948 P

(4) AWK 1949 P

WCUfy AaH ¥ fha Te wAIG HRar
27

1) 2 2 4

(3) 10 @) 12

43 \
Downloaded from cclchapter.in



171

172

173

174

175

176

In which city of India had the 1984
drastic gas tragedy happened?

(1) Delhi 2
(3) Bhopal 4)

Kanpur

Ahmedabad

How long will it take time to present
the arrested person before the
magistrate?

(1) 12Hours (2)
(3) 36 Hours (4)

24 Hours
48 Hours

When was the civil rights act of
America passed?

(1) 1934 )
(3) 1964 (4)

1954
1994

Which article of Constitution states
that untouchability has been
abolished?

(1) Article 17 (2)
(3) Article21 (4)

Article 15
Article 16

Who is the present speaker of
Rajya Sabha.

(1) Smt. Nazme Haptulla

(2) Sh. Mohd. Hamid Ansari
(3) Smt. Pratibha Singh Patil
(4) Sh. Venkaiah Naidu

Which level of Government issues
the 500 Rupee note in India ?

(1) Local Govt.

(2) State Govt.

(3) Central Govt.

(4)  Municipal Committee

171

172

173

174

175

176

ARG {08 Te¥ § T 1984 BT 7GR A

AW 87

(1) fowel (2) PR
(3) W (4) T
ARTaR oy Tv AfeT @ fomm v B A
TRRge WA U BT TS 87

(1) 1278 () 24
(3) 3 € (4) 48 H
ARSI GRT RS ARBR FA 9 WA
ERIR I

(1) 1934 (2) 1954

(3) 1964 4) 199
GIdEM P I A ST YT 3R
GITHY 91 S el ©7

1) FWI1T (2)  HTWT 15
() ITHT 1 (4) TS 16
M H AT P TR P &7

(1) A T egeet

2 o 9EHe Ffe SRR
(3) WMy Rig wica

@) 0 T Y

AR § 500 WIY T A1 b TR B WHR
N PR 27

(1) Y WAR

(2) 9 WIR

(3) T WHR

(4) TRUT®
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In which state of India the tribal
community does not exist?

(1) Orissa (2)
(3) Jharkhand (4)

Haryana

Rajasthan

Which is an organisation that arranges
toilet facilities in the city and towns ?

(1) Sulabh

(2) Bharat Vikas Parishad
(3) Mohalla Sudhar Samiti
(4) All of the above

When the supreme court banned
the practice of manual scavenging?

(1) 2001 (2) 2002
(3) 2004 (4) 2005

Who is known as the father of the
Indian Constitution ?

(1) Pt. Jawahar Lal Nehru
(2) Dr. Bhimrao Ambedkar
(3) Dr. Rajendra Prasad
(4) Sardar Patel

177

178

179

180

Rd @ f o9 H enfardt wE
T 27

(1) SSFm 2
(3) RS (4)

gRar
RTORE

- e TRt o T A e g
TSY B 87

(1) e

(2) W fowrr o

(3)  Figedl GuR WA

(4) SR T

ated AR o RR W el SoM R &9
PIGECRERITf

(1) 2001 )
(3) 2004 (4)

2002
2005

YR HHH & SHE PR o 87
(1) U TR A E®

(2) S 4R SR

(3) . I WIS

(4) WER Ted
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